SEATNO No. of Printed Pages : 3

CA% _EJ _ SARDAR PATEL UNIVERSITY
BCOM Semesfer< fIT Examination (NC)

Fundamentals of Cost Accouhting
UB03CCOMO02

4 Jomuonsy, 2021
10:00 To 12:00
Total Pages: 03
Total marks: 60

Note: Attempt any Four (4) Questions out of fdl}ewing Eight (8) Questions

coney T

Que.l ' (15 Marks)

Explain Cost Classification in Detail.
Que.2 : (15 Marks)

Explain meaning, advantages and limitations of Cost Accounting.

Que.3 : - (15 marks)
Explain meaning, causes and remedies of Labour Turnover.

Que.d (A) | o (07 Marks)
Write note on: ABC Analysis for Inventory Control - o

Que.d (B) o (08 Marks)
Explain features of Good Wage System. - o '

Que.5 N - (15 Marks)
A factory has 3 production departments (P1, P2, P3) and 2 service departments (SI&SZj. The

followingoverheadsé other information are extracted from the books for the month of January
2020.

Expense - Amount
Rent ' 6,000
Repair 3,600
Depreciation 2,700
Lighting ' 600
Supervision 9,000
Fire Insurance for stock 3,000
ESI contribution 900
Power . ' ' 5,400
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| Particulars P1 P2 P3 s1 52
Arca sq. ft, 400 300 270 150 80
No. of workers 54 438 36 24 18
Wages 18,000 15,000 12,000 9,000 6,000
Value of plant 72,000 54,000 48,000 6,000
Stock Value 45,000 27,000 18,000
Horse power of plant 600 400 300 150 50

Allocate or apportion the overheads among the various departments on suitable basis,

Que.6 (A) S (09 marks)

Super Ltd. has three production departments P, Q, R and two service departments A and B.
The following patticulars are available in respect of the departments for the month of
Janvary 2019:-

P Q R A B
Total Overhead after 6500 5400 4200 3600 2500
primary distribution (Rs.) . -
Basis of distribution of 40% 25% 20% e 15%
service department A’s cost
.-.Basis of distribution of 25% 30% 35% 10% -
- service department B’s cost ‘

You are required to apportionment the overheads of service departments A and B to the
production departments under repeated distribution method, :

Que.6 (B) {06Marks)
Write Note on: Machine hour Rate .
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Que.7 (15 Marks)

During the yéar 2019 Vishal Co. Ltd. had produced and sells 20,000 units, for which following
information are available to vou regarding per unit cost.

Particular Amt, (Rs.) Amt. (Rs.)
Prime cost

Direct Material 60

Direct Labour 40 o 100
Factory Overheads

Fixed ’ 10

Variable : 15 25
Administrative Ovetheads

Fixed . 15

Variable - ' ' 10 e - 25
Selling Overheads ' :

Fixed 10

Variable | 20 30
Total Cost _ 180
"Add: Profit 20

Sales : 200

During the ygar 2020, it is estimated 25,000 unites wete produces and sold, and Compaliy wants
to maintain 20% Profit on Cost. You are required to find out per unit selling price after
considering following changes.

(1) All Fixed cost will increase by 20%
(2) Direct material cost will increase by 10%, while Direct labour cost will increase by 20%
. (3) Variable Selling Overheads will increase by 10%, while other variable overheads will
decrease by 10%.

Que.8 (15 Marks)
Explain reason of difference between profit as per Profit & Loss Account and Profit as per Cost
Sheet? Also draw a Reconciliation statément with imaginary figures.
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